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punes |wumn| TIZR) guens |eumm | FIIE ARLEL) e
FAE K¥E. K= 3.5 |ha ha | KfE. K= 3.5 |ha ha
e K7 15 |ha ha K7 1.5 |ha ha
FAE 7Kg 1.5 |ha ha 7Kg 15 |ha ha
MAE K7 0.2 |ha ha K7 0.2 |ha ha
FAE 7Kg 1.9 |ha ha 7Kg 1.9 |ha ha
RE K7 5.2 |ha ha 7K 5.2 |ha ha
e JKFE 9.4 |ha ha JKFE 9.4 |ha ha
FAE JKFE 0.7 |ha ha JKFE 0.7 |ha ha
FIBE K& 3.1 |ha ha K& 3.1 |ha ha
FAE KFg. K2 2.3 |ha ha | KiE. K= 2.3 |ha ha
FAE 7KFa 1.3 |ha ha 7KFa 1.3 |ha ha
FAE 7Kg 1.4 |ha ha 7Kg 1.4 |ha ha
FMAE K7 1.4 |ha ha JKFE 1.4 |ha ha
FAE 7Kg 0.1 |ha ha 7Kg 0.1 |ha ha
e JKFE 9.2 |ha ha 7K 9.2 |ha ha
FAE 7Kg 1.4 |ha ha 7Kg 1.4 |ha ha
RE KFB. ZDT 6.0 |ha ha | KiE.EDZ 6.0 |ha ha
FAE 7Kg 1.4 |ha ha 7Kg 1.4 |ha ha
FAE 7Kg 0.8 |ha ha 7Kg 0.8 |ha ha
FAE K7 1.7 |ha ha K7 1.7 |ha ha
FAE KFE. K2 2.0 |ha ha | K. K= 2.0 |ha ha
RE JKFE 34 |ha ha 7K 34 |ha ha
FIRE K& 0.6 |ha ha K& 0.6 |ha ha
By 7Kg 34 |ha ha 7Kg 34 |ha ha
Y M 2.1 |ha ha X 2.1 |ha ha
FAE 7Kg 0.7 |ha ha 7Kg 0.7 |ha ha
FMAE K7 15 |ha ha JKFE 15 |ha ha
FAE 7Kg 1.9 |ha ha 7Kg 1.9 |ha ha
e K7 6.0 |ha ha 7K 6.0 |ha ha
FAE 7Kg 2.0 |ha ha 7Kg 2.0 |ha ha
FAE 7Kg 0.5 |ha ha 7Kg 0.5 |ha ha
FAE 7KFa 1.7 |ha ha 7KFa 1.7 |ha ha
FAE 7Kg 1.7 |ha ha 7Kg 1.7 |ha ha
FAE K7 0.5 |ha ha K7 0.5 |ha ha
e K7 12.5 |ha ha K7 12.5 |ha ha
FAE 7K %@ 2.0 |ha ha JKFE 2.0 |ha ha
FAE Kig. K2 2.4 |ha ha | 7K¥E. XK= 2.4 |ha ha
By JKFE 15 |ha ha JKFE 15 |ha ha
FAE 7Kg 2.2 |ha ha 7Kg 2.2 |ha ha
FAE = 1.7 |ha ha = 1.7 |ha ha
B Kig, K2 9.5 |ha ha| K#E. K= 9.5 |ha ha
FAE 7Kg 0.5 |ha ha 7Kg 0.5 |ha ha
FAE K7 32 |ha ha JKFE 3.2 |ha ha
FIBE K& 1.7 |ha ha K& 1.7 |ha ha
FAE 7Kg 0.9 |ha ha 7Kg 0.9 |ha ha
FAE 7KFa 0.8 |ha ha 7KFa 0.8 |ha ha
FAE 7Kg 1.4 |ha ha 7Kg 1.4 |ha ha
MAE K7 1.1 |ha ha K7 1.1 |ha ha
e K7 46 |ha ha K7 46 |ha ha
FMAE K7 0.3 |ha ha JKFE 0.3 |ha ha
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punes |wumn| TIZR) guens |eumm | FIIE ARLEL) e
FAE 7K %@ 0.1 |ha ha JKFE 0.1 |ha ha
FRAE K= 0.9 |ha ha X=E 0.9 |ha ha
FAE 7Kg 0.3 |ha ha 7Kg 0.3 |ha ha
MAE K7 0.1 |ha ha K7 0.1 |ha ha
FAE 7Kg 0.6 |ha ha 7Kg 0.6 |ha ha
FMAE 7K 0.4 |ha ha JKFE 0.4 |ha ha
FAE KiE. K2 1.3 |ha ha | K¥E. XK= 1.3 |ha ha
FAE JKFE 0.1 |ha ha JKFE 0.1 |ha ha
FRE 5% 0.1 [ha ha Frx 0.1 |ha ha
By KFg. K2 9.9 |ha ha | KiE. K= 9.9 |ha ha
FAE 7KFa 0.8 |ha ha 7KFa 0.8 |ha ha
FAE 7Kg 0.1 |ha ha 7Kg 0.1 |ha ha
B K7 2.9 |ha ha JKFE 2.9 |ha ha
e K7 8.8 |ha ha K7 8.8 |ha ha
FAE 7K %@ 2.3 |ha ha JKFE 2.3 |ha ha
FBE KR 1.6 |ha ha KR 1.6 |ha ha
FAE 7Kg 1.5 |ha ha 7Kg 15 |ha ha
FAE 7Kg 1.6 |ha ha 7Kg 1.6 |ha ha
RE K7 9.1 |ha ha K7 9.1 |ha ha
Y K7 7.1 |ha ha K7 7.1 |ha ha
e K7 4.1 |ha ha K7 4.1 |ha ha
FAE 7K %@ 0.8 |ha ha JKFE 0.8 |ha ha
FAE 7Kg 2.4 |ha ha 7Kg 2.4 |ha ha
FAE 7Kg 2.0 |ha ha 7Kg 2.0 |ha ha
MAE K7 1.2 |ha ha K7 1.2 |ha ha
FAE 7Kg 0.6 |ha ha 7Kg 0.6 |ha ha
FMAE K¥g. K= 0.4 |ha ha | KiE. K= 0.4 |ha ha
FAE 7Kg 1.2 |ha ha 7Kg 1.2 |ha ha
FAE K7 0.2 |ha ha JKFE 0.2 |ha ha
FAE 7Kg 2.5 |ha ha 7Kg 2.5 |ha ha
FAE 7Kg 0.7 |ha ha 7Kg 0.7 |ha ha
FAE 7KFa 1.2 |ha ha 7KFa 1.2 |ha ha
FAE 7Kg 0.3 |ha ha 7Kg 0.3 |ha ha
FAE KFg. K= 1.2 |ha ha | Kig. K= 1.2 |ha ha
FAE 7Kg 0.7 |ha ha 7Kg 0.7 |ha ha
FAE 7K %@ 0.5 |ha ha JKFE 0.5 |ha ha
FAE K7 1.3 |ha ha K7 1.3 |ha ha
FAE JKFE 0.1 |ha ha JKFE 0.1 |ha ha
By JKFE. B 9.0 |ha ha | 7K¥E. BP3E 9.0 |ha ha
FAE 7Kg 1.0 |ha ha 7Kg 1.0 |ha ha
FAE K7 1.3 |ha ha K7 1.3 |ha ha
FAE 7Kg 0.8 |ha ha 7Kg 0.8 |ha ha
FAE K7 0.3 |ha ha JKFE 0.3 |ha ha
FIBE K& 0.9 [ha ha K& 0.9 |ha ha
FAE 7Kg 15 |ha ha 7Kg 15 |ha ha
Y K7 47 |ha ha K7 47 |ha ha
By 7Kg 5.7 |ha ha 7Kg 5.7 |ha ha
MAE K7 1.2 |ha ha K7 1.2 |ha ha
e K7 1.0 |ha ha K7 1.0 |ha ha
FMAE K7 0.1 |ha ha JKFE 0.1 |ha ha
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FAE 7K %@ 3.9 |ha ha JKFE 3.9 |ha ha
FAE KfE. K= 0.5 |ha ha | KfE. XK= 0.5 |ha ha
FAE 7Kg 0.8 |ha ha 7Kg 0.8 |ha ha
MAE K7 0.8 |ha ha K7 0.8 |ha ha
FAE 7Kg 3.2 |ha ha 7Kg 3.2 |ha ha
FMAE 7K 0.9 |ha ha 7K 0.9 |ha ha
FAE K7 1.0 |ha ha K7 1.0 |ha ha
FAE JKFE 0.5 |ha ha JKFE 0.5 |ha ha
FRE K& 1.4 |ha ha K& 1.4 |ha ha
RE IKFE. Rt 1.2 |ha ha | JK¥E. R4 1.2 |ha ha
FAE 7KFa 0.2 |ha ha 7KFa 0.2 |ha ha




